Answer to Quiz #1: Question #1

Here is the code segment to fill in so that the given program prints out how many a's were in the given string:

for (int i=0; i<word.length(); i++)

  if (word.charAt(i) == word.charAt(0))

    numa++;

The loop iterates through the integers 0, 1, 2, …, word.length()-1. Note that word.length() retrieves the length of the string and is not a valid index into it, but word.length()-1 is. Notice that we are NOT allowed to just call length(). We must specify which string's length we want to retrieve.
For each location in the string, we must access the character there. This is exactly what word.charAt(i) does. We must specify which string we want to look at, (the string word in this example), then we must specify what we want to do with this string (find a character in a particular location of it - this is what charAt does.) 

Once we isolate this character, we must check to see if it is equal to the first character of the string, which can be accessed similarly.
Common Errors on this question

1) Calling the charAt() method without specifying the object it is called upon. ALL INSTANCE METHODS MUST BE CALLED UPON AN OBJECT. (So, word.charAt(2) is valid, but charAt(2) is not.)

2) length is NOT a variable of a String object, thus, word.length is invalid. Rather, length is a METHOD that takes in no parameters and returns an integer. Thus, just like charAt, it must be called on an object with parentheses like so: word.length().

Answer to Quiz #1: Question #2

Here is the segment of code that creates a random object and then uses it to create five random real values in between 0.0 and 10.0 and prints out this sum:
Random rGen = new Random();

double sum = 0;

for (int i=0; i<5; i++) {

  double rValue = 10*rGen.nextDouble();

  sum = sum + rValue;

}

System.out.println("Sum is "+sum);

Here, the first line properly creates the object. To create an object, the constructor must be called, using the keyword new. The name of the constructor is the same as the class, and the given information showed that the constructor takes in no parameters. 

Once rGen is referencing a valid Random object, we can use it to create a random number in between 0.0 and 1.0 by calling the nextDouble() method on it.

Then, we must multiply this result by 10, so that the final value we create lies in between 0.0 and 10.0.

Common Errors on this question

1) Can't use the % operator on doubles, so the expression doublenum%10 is invalid if doublenum is of type double.

2) Must call nextDouble() ON AN OBJECT. Thus, nextDouble() is invalid, but rGen.nextDouble() is okay, so long as rGen references a Random object. (This still is true even IF you call the constructor!)

3) Some students did not set up their loop properly, a couple examples of answers given are:

for (int i=0; i > 5; i++)

for (int i=0; i<= 5; i++)

The first one doesn't run at all and the latter one runs 6 times instead of 5.

4) Not initializing sum to 0.

